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SECTION-A 
 

I Answer any FOUR of the following questions:                                   4x5=20 
 

a) Why does the man in black think that it is futile for citizens to help the poor in 
England? 

 

b) Why does Leacock finally get annoyed with the photographer, and do you think this 
reaction is justified? 

 

c) Why did Johnsy think that she had been a ‘bad girl’? 
 

d) What are King’s dreams about his children’s future? 
 

e) How can young boys and girls help their parents? 
 

f) What is the ‘system of graded inequality’? 
                               
                                            SECTION-B 
 

II Answer any FOUR of the following questions:                                                4X5=20 
 
         a) What is Milton’s grievance against Time? 
         b) Why is better to laugh and be happy? 
         c) Explain the line, ‘Love’s not Time’s fool’. 
         d) What is Tagore’s perception of rationality? 
         e) Bring out the personification of Death in the poem? 
         f) What is the central theme of the poem ‘Ozymandias’?                                                        

 
 
 

SECTION-C 
III Answer any TWO of the following questions:                                               2X10=20 
 
         a)  Write about the character of David Copperfield? 
         b)  Consider Dickens as a social critic? 



         c)  Comment on the use of Victorian-English by Dickens? 
         d)  Write a note on the structure of the novel David Copperfield? 

 

                                                             SECTION-D 
 
IV Read the following passage and answers the questions that   follow:                    5X1=5               

 Games, though essential, should not become the be-all the end-all of student life.  
Generally the sportsmen waste too much time on them, and fail in their examination.  
Again, if a player plays a game rashly, there is every danger of his breaking a limb.  If it 
is played without the spirit of sportsmanship, it can lead to bad blood and quarrels. But in 
spite of all these minor defects, sports are very useful in keeping the students busy and in 
developing their personalities.  India expects its citizens to have the qualities of true 
sportsmen.  If we all acquire these qualities, there will be no narrow-mindedness, no 
corruption and no injustice.  There will be independence in the real sense of the word. 
 

i) What harm do games do to some students? 

ii)  Why are players injured sometimes? 

iii) What does the phrase ‘bad blood’ mean? 

iv)  What purpose do sports serve? 

v) When will India attain independence in the real sense of the word? 

V   Fill in the following blanks with suitable verb forms:                                         5X1=5   
i)   One of my friends_________(live) in Bombay 

ii)  Satish__________(become) an army officer last year 

iii) If he _________(work)hard, he will get a first class 

iv) She_________(dance) since morning 

v) They------------(complete) their course next year 

VI Match the following words:                                                                                 5X1=5 
      A                                           B 

1) Subtle                                                  final 
2) Lovely                                                 reveal 
3) Crazy                                                  clever 
4) Ultimate                                              beautiful 
5) disclose                                               mad 

 
 
V  Correct the following sentences as necessary:              5X1=5 

1) The exercises in this book is lengthy and difficult 

2) He is twenty years old, isn’t it? 

3) Every one of the two pencils is missing 

4) This morning I got up lately 

5) The supermarket is besides the bank 
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













 
 
 
 
 
 
 

 
 
 
 
 



Hindi 
 

Time: 3 hours.                                                                                        Max. Marks: 80 
 

SECTION-A                            40 Marks 
 

1. ǑकÛहȣ दो पाठɉ का सारांश िलǔखए।                        2 x10=20 
M         
(a) िमğता               (c) पØृवीराज कȧ आंखे 

(b) भारत एक है।        (d)हेच. आई. वी. एÔस   

2. Ǒकसी एक कहानी का सारांश िलǔखए।                                                1 x10=10 

(a)  मुǒƠधन            (c) भÊनावशेष              

(b) भूख हडताल  

3. (i) छुǔÒटयɉ मɅ अपने घर आने का िनमंğण करते अपने िमğ को पğ िलǔखए।    1 x10=10 

(अथवा) 
    (ii) अÚयापक नौकरȣ केिलए ĤधानाÚयापक के नाम पर पğ िलǔखए।  

 
   SECTION-B                            20 Marks 

 
4. ǑकÛहȣं तीन कȧ संदभ[ सǑहत åयाÉया कȧǔजए।                   3 x 4=12 
M 
     (a)  “Ïवार ने मुझ ेअभी छोड़ा।“ 

     (b)  “हम कािलदास-वािलदास को कुछ नहȣं जानते। तुम ने शकंुतला से Þयाह Ǒकया है तो     उसे 

रखना हȣ पड़ेगा। “  

(c)  “मेरे अÍछे चंद,महाकǒव, िमğ, Üयारे! आओ! मेरे जीवन कȧ æमशान के समान भयानक आग 

शांत कर दो।“ 

 (d)  “ǒवचारɉ कȧ एकता जाती कȧ सब से बड़ȣ एकता है।“ 

 (e)  ”पिशम भारत के अिधकतर Ĥमुख शहरɉ मɅयह रोग अपनी तीसरȣ अवèथा तक पहुंच चुका है।“ 

5. ǑकÛहȣ दो पाğɉ का चǐरğ िचğण कȧǔजए।                                            2 x 4=8  

   (a) दाऊदयाल       (c) नारायण राव  

   (b)गूदड़ साई        (d) चेतना     
 

SECTION-C                                          20 Marks 
  

सूचना के अनुसार िलǔखए। 
6.  धोबी कपड़े धोता है. (रेखांǑकत शÞद का िलंग बदलकर वाÈय को Ǒफर से िलǔखए। )  
7.  यह घर मेरा है। (रेखांǑकत शÞद का वचन बदलकर वाÈय को Ǒफर से िलǔखए। ) 
8.  रमशे नाटक देखेगा। (वाÍय बदिलए ) 



9.  राम ने रोटȣ खाता है। (शुÚद कȧǔजए) 

10.  मɇ èकूल जाता है। (शुÚद कȧǔजए)   

11.  गाँधी ने सभा मɇ बोला।(शुÚद कȧǔजए) 

12.  नीच ेदȣ गए चार पाǐरभाǒषक शÞदɉ को ǑहÛदȣ मɅ अनुवाद कȧǔजए।   4marks 
        a) circular      b) Headquarters    c) chairman   d) Governor      e) grant        f) director    
13. संिध ǒवÍछेद कȧǔजए।  
    a) अ×यिधक        ब) èवागत  

14. ǒवलोम शÞद िलǔखए।  
    a) गाय     b) Ǒदन   
  



Sanskrit 
 
 

Time: 3 hours                                                                                                     Max. Marks: 80        
                                                         

Note : “Section-C” should be answered in Sanskrit (Devanagari script) only 
 

SECTION – A  
 

I. एकम ्समाधƣ ।            1x12=12 
Answer one essay question. 
1. “रघोः  औदाय[म”् इित पाÓयांशèय सारांशं िलखत । 

Write the essence of the lesson of “RaghohAudarya” 
2. सुĒीवèय वचनािन ǒववणुृत । 

Explain the words of “Sugreeva” 
 

II. एकम ्समाधƣ                      1x12=12 
Answer one essay question. 
1. पाÓयभागमनुस×ृय चोĐोडèय वƣृाÛतं वण[यत। 

Write the story of “Chikrida” according to lesson. 
2. सपǐरवारः िचğĒीवः कथं पाशबÛधात ्मुǒƠं ĤाÜनोत?् ǒववणुृत। 

How was Chitragreeva released from the net along with his 
followers. 

SECTION – B 
III. च×वाǐर ससÛदभɍ  åयाÉयात ।           4x3=12 

Explain any four with reference to context.  
 
1. उलूको वायसािनव । 
2. लोकेन चैतÛयिमवोçणरæमेः। 
3. शरƨनं नाद[ित चातकोऽǒप । 
4. भरताविनं सुमनसां वÛदे पǒवğां पराम ्। 
5. सव[Ʊ भूतगणः åयापतृोऽǔèत सेतुबÛध े। 
6. सुतƯमǒप पानीयं शमय×येवपावकम ्। 
7. एतािन महता वेगेन कायɍ कतुɍ शÈनुवǔÛत । 
8. सàपƣौच  ǒवपƣौ  च महतामेकǾपता । 

 
SECTION – C 

IV. समĒं पǑठ×वा समाधƣ ।                                 5x1=5
         
Answer all the questions after careful study of given paragraph. 



 “ǒवभीषणः Įीरामं ĤाÜय”, अहं रावणेन पǽǒषतः, अवमािनतः, पुğान ् दारांƱ 
×यÈ×वा तव शरणमागतः इित उƠवान।् तदा सुĒीवः रामं ǺçÒवा, “ǒवभीषणे ǒवƳासः न 
कत[åयः इित उवाच। अनÛतरं अÌगदः रामं ĤाÜय, “ǒवभीषणः सहसा न ǒवƳसनीयः” इित 
उƠवान।्  

 “अदेशकाले सàĤाƯः सव[धा शÌÈयतामयम”् इित शाƸबुÙÚया ǒवच¢णः जाàबवान ्
बभाषे। तदा हनुमान ्èवािभĤायं Ĥाकथयत ् “सहसा काय[èय èवǾपं £ातंुन शÈयते। अतः 
दोषाय कãपते” इित।  

1. ǒवभीषणः Ǒकमथɍ कुğ आगतवान?् 

2. सुĒीवः Ǒकमुवाच? 

3. अÌगदः रामं ǑकमुƠवान?् 

4. जाàबवान ्Ǒकं बभाषे? 

5. हनुमान ्Ǒकिमित Ĥाकथयत?् 

V. A) Ʈौ शÞदौ सàपूण[तया सǒवभǒƠकं िलखत।                2x5=10 
          Decline any two completely. 

1.देव  2.गो   3. मित 4. मधु 
  B) चतुणाɍ लकाराणा ंǑĐयाǾपाǔण सàपूण[तया िलखत।           
4x2 =8 
 Conjugate any four alankaras completely.  
 1. भू–लोɪ- भवतु 2.गम ् -ǒविधिलɨ- गÍछेत ् 3.कृञ-्लɪ-करोित 

 4.लभ-्लɨ-अलभत 5.वÛɮ-लɪ-वÛदते  6.िलख-्लɪृ-लेǔखçयित 

    C) चतुणाɍ नामिनदȶशपूव[कं सÛधƣ।                 4x2=8 
Combine any four mentioning the name of Sandhi.  
1. राम+अनुजः          2. तथा+एव  3. यǑद+एव   

4. महा+उ×सवः 5. िशवः+अहम ् 6. सुप+्अÛतः 
    D) चतुणाɍ नामिनदȶशपूव[कं ǒवĒहवाÈयािन िलखत।                          
4x2=8 

Dissolve any four  mentioning the name of Samasa.  
1. Ĥ×य¢म ्  2. रामलêमणौ 3. पूव[कायः 
4. ǒğभुवनम ्     5. नीलो×पलम ् 6. कृçणभƠः । 

SECTION– D 
VI.  a) Ʈौ Ʋोकौ आÛĢभाषया वा आंÊल भाषयां वा अनुवदत ।                       2x2½ =5 

 Translate any two of the following into Telugu or English. 
 
1. रावणो नाम दवुृ[ƣो रा¢सो रा¢सेƳरः । 

तèयाहमनुषो ħाता ǒवभीषण इित Įतुः॥ 

2. ऋते िनयोगातआ्मØयमवबोƨुं न शÈयते । 
सहसा ǒविनयोगोऽǒप दोषवान ्Ĥितभाित मे॥ 



3. अÛतधा[नगताƭोते रा¢साः ककमǾǒपणः। 
शूराय िनकृित£ाय तेषां जातु न ǒवƳसेत॥् 

4. अदेशकाले सàĤाƯ इ×ययं यǑƮभीषणः 
ǒवव¢ा तğ मेऽèतीयं तां िनबोध यथामित॥ 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Part II: Foundation Courses  
 

Paper 1:  Ethics and Values 
 
 
Time: 3 hours          Max Marks: 80 

SECTION – B 
 
Answer ALL questions.                 4X15=60 
 

1. a)  Define Ethics and how it influences the Human Behaviour? 
 

(or) 
a) Explain the Concept of Good and its role in Human Life? 

 
2. a)  Write an Essay on Trust, Respect Guidance and Reverence, relating to the family  

      Values? 

 

(or) 
b) Explain the importance of Environmental Values and Social Justice in the present 

Society. 


 
3. a)   Write an Essay on Human Rights. 

 
(or)  

b) “Happiness” and “Prosperity” are the Characters of Hedonism Explain. 


4. a)   Explain the Gandhian Concept of Ahimsa and Trusteeship. 
 

(or) 
b) Explain the role of Moral Values in Public Administration. 

 
 

SECTION – B 
 
Answer any FOUR of the following.        4X5=20 
 

5. Moral Concept  
 

6. Obligations to Society 
 

7. Emotivism 



 
8. Utilitarianism 

 
9. Koutilya’s Arthasastra 

 
10. Virtue is Wisdom 

 
11. Directive principles of State Policy 

 
12. Purusharthas 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

 
 

 
 

 

 



Part III: Basic Subjects 
(B.Com Gen & Voc) 

 
 Paper 1: Financial Accounting - I  

 
Time: 3 hours                     Max. Marks: 80 

SECTION – A 
 

Answer ALL questions.                   4 x 15=60 
1. a)  Enter the following transactions of the premier trading company’s cash book with  

three columns, Discount, Cash and Bank and balance the accounts as on 31st 
December 2012. 

  December 2012 
1. Cash in hand Rs. 4000. 
1. Bank Rs. 1000  (Cr) 
3    Receives A cheque from A Rs. 290 and allowed him discount of Rs. 40 
7.   A’s cheque deposited into bank. 
10. Withdrew from bank for office use Rs. 800 
12. Paid B/P by cheque Rs. 600 
15. B/R from Ram Rs 2500 discounted, crediting in the bank Rs.2,400 
20 Issued a cheque for petty cash Rs 100 
25 Paid to Gupta by cheque Rs. 920, discount received Rs. 30  
28 Made cash sales Rs. 900. 






Cr









                                                           (or) 
 

(b) On 1. 1. 2010 X Company Limited purchased a Machine for Rs. 60,000 and Rs. 
20,000 were spent on its erection immediately. On 1.7. 2011 another Machine was 
purchased for Rs. 52000 and on 1.7.2012 the first Machine was sold for Rs. 64000. 
On the same date another Machine was purchased for Rs. 50000. On 1.1.2013. The 
second Machine was sold for Rs. 46000. Deprecation was provided on Machine at 



the rate of 10% per annum on the original cost annually on 31 Dec. Prepare 
Machine a/c for the above four calendar years. 








 
       2. a)  From the following trial balance of Deena Dayal as on 31.12.2008, prepare the 

Trading, Profit and Loss a/c and Balance Sheet. 
 
                                                                   Dr. Rs.                    Cr. Rs. 
Capital            80,000 
Drawings                                                         6,000 
Plant & Machinery 
(Balance on 1.1.2008)                                20,000 
(Additions on 1.7. 2008)                              5,000 
Stock (1.1.2008)                                    15,000 
Purchases                                                           82,000  
Returns   inwards                                                 2,000 
Debtors                         20,600 
Furniture & Fittings           5,000 
Freight Duty             2,000 
Carriage outwards              500 
Rent, taxes           4,600 
Printing and stationery           800 
Business expenses               400 
Creditors           10,000 
Sales         1,20,000 
Return outwards            1,000 
Postage – Telegrams                      800 
Bad debts reserve               400 
Discounts                800 
Rent on buildings          1,200 
(up to 30.6.2009) 
Insurance charges                 700 
Salaries – wages             21,300   
Cash in hand                6,200  
Cash at bank              20,500 
          _________   ________
  
           2,13,400  2,13,400 
         __________           ________
   
 
 
The following adjustments are required. 



a) Stock on 31.12.2008 is valued at Rs. 14,600 
b) Write off Rs. 600 as bad debts and maintain the provision for doubtful 

debts at 5% on debtors. 
c) Make a provision of 2% for discount on debtors   and creditors. 
d) Depreciate furniture and fittings by 5% and plant and machinery by 20%.  
e) Prepaid insurance Rs.100/- 





       
    

   
   
  
    
    
  
  
  
    
   
    
    
      
     
     
  
    
       
   
   
   
    
   
    
  
 




    









 

(or) 
 

b)   From the following particulars, ascertain the bank balance as per cash book of   Swamy 
as at 31st March, 2012. 

i)  Credit balance as per pass book as on 31.3.2012 Rs. 2,500. 
ii)  Bank charges of Rs. 60 had not been entered in the cash book. 
iii) Out of the cheques Rs. 3,500 paid into the bank, a cheque of Rs. 1000 was 

not yet credited by the banker. 
iv) Out of the cheques issued for Rs. 4,500, cheques   of Rs. 3,800 only were     
      presented for payment. 
v) A dividend of Rs.400 was collected by the banker directly but not entered 

in the cash book. 
vi) A cheque of Rs. 600 had been dishonoured prior 31.3.2012 but no entry 

was made in the cash book. 












 

3 a) Murthy of Hyderabad consigned goods of 100 tonnes at Rs. 1000 per each tonne to  
Madhav of Tirupathi after including 25% on cost to be sold at invoice  price. He spent 
Rs. 2000 and Rs. 3000 towards transport and insurance respectively. In Transit 10 
tonnes were spoiled and Murthy claimed insurance of Rs.6000 to which insurance 
company accepted. Madhav sent his account sales after two months as follows. 

           80 tonnes sold at invoice price. 
1 tonne lost due to normal reasons. 
9  tonnes were with consignee.  Selling expenses Rs. 2,500, his commission 

3% Madhav sent due amount by DD. 
          Prepare necessary ledger accounts in the books of Murthy and Madhav. 
















 

    (or) 
 
b) Rectify the following errors by using suspense account.  

i)   Goods sold to Rama Rs. 1,000 were not posted to his account. 
ii)     Purchase book was overcast by Rs. 400. 
iii)    Sales book was undercast by Rs. 53. 
iv)    Purchase returns book was undercast by Rs.16. 
v)     Cash received from Govind Rs. 111 was posted to his account as 

Rs.1,111. 
vi)    Cash paid to Raghu Rs. 770 was posted to his account as Rs. 170. 
vii)   Payment of Rs. 140 rent debited to Landlord account. 
Viii) Payment of Rs.1000 to A posted to his credit as Rs.100. 
ix)   A credit sale of Rs. 500 was entered in the returns outward book. 
x)    A cash purchase of Rs. 105 was not posted in the ledger. 
xi)   Rs. 150 paid to Dinesh posted to Dhir. 
xii)  A credit purchase of Rs. 300 from Y posted as Rs. 30 in the ledger. 



















 

4  (a) Vikas draws a 3 months bill on Vishal for Rs. 4,000 on 1.4.2012.  Vishal accepts the 
bill and sends it to Vikas who discounted it with the bank for Rs. 3,940 Vikas sends ¼ 
of the amount that is Rs. 985 to Vishal. On the due date Vikas could not send his 
amount to Vishal and accepts a  bill for Rs. 4,500 for 3 months which is discounted by 
Vishal for Rs. 4,440.  Vishal sends Rs. 330 to Vikas.  Before the due date of the second 
bill, Vikas becomes insolvent and 25 paise in a rupee was received from his estate. 

          Give journal enters in the books of both the parties 

¼






(or) 
 

(b) Ramesh and Suresh join together to construed a building for Rs. 25,00,000 sharing 
profits and losses equally. They opened a joint bonk a/c, each contributing Rs. 
5,00,000.  They incurred the following costs.  
Raw materials purchased    10,00,000 
Wages         2,50,000 
Materials supplied by Ramesh       75,000 
Materials supplied by Suresh      1,00,000 
Suresh took over the stock of material valued Rs. 50,000.  The contract was 
completed and all the money was received.  Prepare Joint Venture a/c joint bank a/c 
and Personal Accounts. 






    
       
     
     



 
 
 
 
 
 
 
 



SECTION -B    
Answer any FOUR of the following.           4 x 5=20 

 

 5. Advantages of computerized accounting. 



5. Enter the following transactions in analytical Petty Cash book and balance the 
same  

2007  
June 1 Received for Petty Cash payments               1,000 

          2 paid for postage            80 
          5 paid for stationery                 50 

 8 paid for advertisement          100 
12 paid for wages            40 
16 paid for carriage             30 
20 paid for conveyance           44 
25 paid for travelling expenses         160 
26 paid for postage          100 
28 wages paid             20 
30 paid for telegrams            40 


         
     
         
        
      
        
        
        
       
        
        
        

                  
7. On march 31st, 2012 sundry debtors and creditors stood in the books of accounts of Mr. 

Phani at Rs. 60,000/- and Rs. 45,000/- respectively.  5% provision for doubtful debts and 
3% provision for discount on debtors were created.  A provision of 2% created for 
discount on creditors.  The position for the year ended March 31st,  2013 was as follows . 

a) Actual bad debts Rs. 1,250 
b) Actual discount allowed Rs.900. 
c) Actual discount received Rs. 1000. 

The provisions were to be maintained at same rates as in the previous year on sundry   
debtors and creditors which stood at Rs.48,000/- and Rs. 40,000. Show the ledger          
accounts. 
















 

8   Error not disclosed by trial balance. 

 

9  Sai Ram of Anantapur sent 100 computers costing Rs. 1,00,000/- to Sai Krishna of Guntur 
by spending  Rs. 3000 towards freight.  Sai Krishna spent cartage  Rs. 600/- godown rent 
950 and sold 80 computes. Find out the closing stock value on consignment. 







10. Features of joint venture. 



11.  Methods of preparation of  Trial balance. 



12.  Provision Vs Reserve. 
 Vs
 

 

 
 

 
 

 
 

 
 

 
 



 
(B.Com Gen & Voc) 

Paper-2  Business Organization and Management 
 

Time: 3 hours                                                                                                 Max. Marks: 80 
 

                                                            SECTION – A  
Answer ALL questions.  


        4x15=60                                         
1. a)   Define Business. What are the objectives of Business? 


(or)

 
    b)   Describe in brief Fayol’s General Principles of Management? 


 

2. a)   Describe various functions of an Entrepreneur? 

                                     (or)

 
    b)  Explain various steps in Planning? 


 

3. a) “Single Mans control is best in the world” comment? 

                                     (or)

 
    b)  Explain the meaning of “Line and Staff” systems of organization. What are its merits  

and Demerits? 

 
 4. a)  Explain the different stages in the formation of a company? 


                                      (or)

 
      b)  What is meant by centralization of authority? Give its advantages and disadvantages to     
.           an Organization 


              
 
 
 



SECTION – B  
 
Answer any FOUR Questions             4x5=20  
                                                       

5. Distinction between Trade, Commerce and Industry 


 

6. What are the sources of  long-term finance? 

 

7. Discuss Various types of Partners. 

 

8. Discuss the Process of decision making. 

 

     9.   Leadership 

 

    10.  What are the steps in organization process? 

 

    11.  Delegation of authority 

 

    12. Memorandum of Association – Clauses. 

 

 
 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

 



B.Com. (General)  
  Paper-3  Business Economics 

 
Time: 3 hours                                                                                                   Max. Marks: 80   

                                                            SECTION – A                                                           
Answer ALL questions.           4x5=20
     

1. a) Define Business Economics. Explain the importance of Business Economics. 


 (or) 
   b) Explain Free Market Economy features?  Discuss its merits and demerits.  


2. a) Elucidate the methods of measuring the price elasticity? 


                                         (or) 

   b)  Explain Marginal Productivity theory of distributions? 

  

3. a) Explain the Law of Variable Proportions?  


                                          (or) 
   b) Define National Income? Describe the method of measuring the National Income. 

 

4. a) Describe the different phases of business cycles? 


                                          (or) 
   b) Explain the price determination under monopolistic competition? 

 
 

 
SECTION – B                                            4 x 5=20 

                                                                                                                              
Answer any FOUR of the following    
                                                                            

5. Wealth definition 


 

6. Deductive Method 

 

7. Quantity Changes in Demand 

 

8. Consumer’s Surplus 




 

9. Production function 

 

10. Marginal Product 

 

11. Importance of International Trade 



12. W.T.O 
 

 


 
 

 
 
 

 
 

 
 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

 

 



B.Com. (Vocational)  
Paper-3  Fundamentals of Information Technology 

 
Time: 3 hours                                                                                                    Max. Marks: 80 
 
                                                            SECTION – A  
                                              
Answer ALL questions.        4 x 15=60
          
1. a) What are the characteristics and limitations of computer? 
                                    (or) 

 b)  State the applications of E-Commerce? 
 

2. a) State the features of MS-Word? 
                                    (or) 

b) Describe different types of Operating Systems? 
 

3.  a) Bring out the advantages of MS-Power point? 
                                   (or) 

b) Discuss different types of functions available in MS-Excel? 
 

4. a) Enumerate the services available on Internet? 
                                   (or) 
    b)  What are the applications of MS-Access? 

 
SECTION – B  

 
Answer any FOUR Questions                    4 x 5=20     
                                                                                    
5.   Secondary Memory 

6.   Mail Merge 

7.   Data validity checks 

8.   Internet Banking 

9.   Computer Virus 

10. Data Sorting & Filtering 

11. Custom Animation 

12. Network Types. 

 
 
 
 
 


